54,00
52,00
50,00
48,00
46,00
44,00
42,00
40,00

Xneo (py0O./Kr),

LleHbl cpeaHue MMHUManbHbIe

==XNeb benbin

«-Xneb p>kaHou




Monoko (py6./1n), kecoup (pyo6./1n),

LUeHbl cpeaHne MMHUMallbHbIe

80,00 -
70,00 -
67,21 67,65 A =%Monoko, M.4.X.
By 57 2,5%
“wKedonp, m.0.x.
2,5%
50,00 - 5050 51,36
40,00
S &
MG
o & O

w



80,00 -

75,00 -

70,00 -

65,00 -

Anua kypuHble (py6./aec.),

cphendHAS LleHa

=MUH. LeHa

«MMaKc. LeHa




Macno cnuBoYHOe (py6./kr; py6./nay.),
LeHbl cpegHue MUHUManbHbIE

650,0 -
550,0 - . 'AVZ,Z
450.0 1532,5 532,5
=s=Macno cnus. (Kr)
350,0 -
«s=Macno cnue.(185rp.)
250,0 -
150,0 1985 985 0>
——
50,0 | | |




Macno noaconHe4yHoe (py6./1 n),
LUeHbl cCpeaHne MMHUMaAJ1bHbIE

90 -

“s=Macno nogconHe4yHoe

85 -




Mvka, kpynbl, caxap (py6./Kr),
LleHbl cpeaHue MUHUMAarbHbIe

64.0 64,7

6510 ~ N’g
“Myka
60,0 -
“w=Puc
55,0 - 51.9 [ peyka
8 g
50,0 - 480 ===Caxap
449 44,7
45,0 - 42.4 a h
&
40,0 -
MS’Q
35,0 +37,1 36,9 |
)



OBowwu (py6./kr),

LeHbl cpeaAHne MUMHUMallbHbIe

60,0 - 58,7
55,0 -
50,0 - =s=KapTodenb
45,0 - =w>MopkoBb
40,0 - ~&Kanycra
o2 e==[TyK
30,0 - penyaTbiit
25,0 -
20,0 I [ [ [ [ [ [ | [ [ [ |
S & F
& N N
AT



Msaco (py©6./kr),

LUeHbl cpeaiHne MUHUMaTIbHbIE

280,0 280,0 280,0

250,
270,0 270,0

=% OoBAONHA |
KOCTU

«“wCBWHUHA H.
KOCTU

2-Mgaco kyp




®pykThbI (PYO./Kr),
1900 - LIeHbI cpeaHue MUMHUManbHbIe
180,0
170,0 - 160,1
160,0 - . == BrnoKi
150,0 -
140,0 -
130.0 - Z-BUHOTrY
120,0
110,0
100,0
90,0
80,0
70,0
60,0

154,9 11452 «i>BaHaH

e=mAnenb

«==MaHpa




'CM (py6./n), ueHsl MuHuMansHble

45,0 - 44,65 44 g5
Ay 226
a0 436 436 436
o
==AN-92
43,0 -
“wAl-95
42,0 -
0T
41,0 -
40,0 4 ’5 | 4-0’5| 4-O’5| | | | | | T T | |



